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Topic Regression with seasonal indicators
Menu
A regional power company has generated the following regression model for forecasting the total
amount of electrical power used by its customers (in megawatt-hours) each quarter:

Dictionar

,= 162.6+3.25¢t - 16.26Q; — 32.52Q,+65.04Q,

Calc
@ where Q,, Q,, and Q, are indicator variables of the form

Quiz 1 if the data are associated with Quarter i

Help 0 otherwise

This model is developed using a data set that starts in Quarter 1 of 2003 (i.e., the first time period
t =1 is associated with Quarter 1 of 2003). Use this model to forecast the total amount of power
(in megawatt-hours) that will be used in Quarter 1 of 2010.
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